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Huzzle Cast Duet Assembled
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Disassembled

2. Label the lattice’s top and bottom side respectively as A and B, T
1. Start position Lattice and number the grooves as shown below. Label the rings respectively 3. Pass the_prolectmg
as ring L and ring R. Since both rings have the same shape, it does part of the ring through

not matter which is L and which is R. the lattice’s grooves in
the order given below.

There are five goals in

5 all: one for taking both
rings off and four for

putting the two rings
together back into the
lattice at the indicated
places. Begin with the
rings removed from the
lattice for the goals
involving the rings to be
attached together at the
indicated places.

removable

Begin with the rings removed to solve the puzzle in the four ways indicated below. Since both rings have the same shape, it does not matter which is L and which is R.

Putting the ring together at YI
Ring L »>(A 13<(A 12):@ 20~A 10~(A 5 Ring R »A19-@1D-A 12
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Putting the ring together at

Ring L »@20)+A 1)+ 10+(A5)-@ 19 1 ]|  ringR»@1D-EID-A1D-ATDAD
A @D-(AD |
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Putting the ring together at

Ring L »>@ 1@ DA 12-A 10-(A4D Ring R »>@20-A 19<A 10-(AS-E@ 19
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Putting the together at
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